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(1) am = a · a · ... · a︸ ︷︷ ︸
m−mal

Beispiel: 53 = 5 · 5 · 5 = 125

(2) ab
c
= a(b

c)

Beispiel: 23
2
= 29 = 512

(3) am · an = a · a · ... · a︸ ︷︷ ︸
m−mal

· a · a · ... · a︸ ︷︷ ︸
n−mal︸ ︷︷ ︸

(m+n)−mal

= am+n

Beispiel: 22 · 23 = 22+3 = 25 = 32

22 · 23 = 4 · 8 = 32

(4) an · bn = a · a · ... · a︸ ︷︷ ︸
n−mal

· b · b · ... · b︸ ︷︷ ︸
n−mal

= (a · b) · (a · b) · ... · (a · b)︸ ︷︷ ︸
n−mal

= (a · b)n

Beispiel: 23 · 33 = (2 · 3)3 = 63 = 216

23 · 33 = 8 · 27 = 216

(5) (am)n = a · ... · a︸ ︷︷ ︸
m−mal

· a · ... · a︸ ︷︷ ︸
m−mal

·... · a · ... · a︸ ︷︷ ︸
m−mal︸ ︷︷ ︸

n−mal

= a · a · ... · a︸ ︷︷ ︸
(m·n)−mal

= am∗n

Beispiel: (32)2 = 32·2 = 34 = 81

(32)2 = 92 = 81

(6) a0 = 1

Beispiel: 25 = 25+0 = 25 · 20 = 25

(7) 0n = 0 · 0 · ... · 0︸ ︷︷ ︸
n−mal

= 0 für n > 0

(8) Spezialfall: 00 = 1

(9) a−n = 1
an

= ( 1
a
)n

Beispiel: a3 = a−(−3) = 1
a−3 = 1

1
a3

= a3

(10) a
1
n = n
√
a , a ≥ 0

(11) a
m
n = n

√
am = ( n

√
a)m , a ≥ 0

Beispiel: 3
4
2 =

2
√
34 = 2

√
81 = 9

3
4
2 = 32 = 9
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